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L i f t , point P = ( R , B , B )

directron v a i n f - s u , , , , ↳5

-"7¥"""

L ( f ) = OF + t f = ( A t t u , Bet ter, B + this.
A

Origin

Plane. normal vector A = L a i b
point P E No,yo, Zo), P e 1%9,2)

a p t i t u d e o r A. pots s o
9

T o



I f y o u rearrange1EqnforZeflXiyj-
z@9z.mierapt.M9

Slope i n slope i n

A

X d i r. G d r

÷÷ii÷÷±fAny 3 (non-Colinear) points

i n 3 -space form a plane.
×

"general position"



Method Eqn of a plane through 3 points.

P, Q, R points i n
1123.

p§. R
•¥ 8 0 ,
P

a lx-p. l t
f =

150, xp'R normal vector. b l y -pd tPUse P a s o u r "basepoint".
4-2731=0

i f n = Lash, a PE (P,, Pz, B )



Ex ① = (112,4) ① find POT, Ppi

Q = (hoist) ② n'= Pdx FR
12=101113) ③ combine ingredients to get

§Q=(O,-2, O ) Eqn o f plane.

'÷i÷I÷÷÷If-8+0)-J (O-O)tk(O-2)
-212-+11=0



f i n
②, ]

IF = '⇒u¥÷÷÷:*..
① f i l l ou t table

② find the@gin. represents a flinearfunction
&

Z-motion
+ q

2¥25 = %¥ = 7 = 5 I E

2 1 = 5 . 3 t l . o t g



2 1 = 15+9 ⇒ 9 ¥E-5xtlytb.GE#opsP,,PzwX

Vedas ⇒ respectively.

Find a vector v that's parallel t o the

Intersection of p, and P z . ¥÷¥¥".
Tricky V should be Pdl to f i x n i



thntforwwa.at#2L

Given a contour diagram p i c k -3 points W I

different day, 2 ) c a r d s I u s e that t o find

the Egin o f a plane



Limits

%¥µ F l "

W e s a y that I i m fix) = y o i f

x o x o

① the limit ex i s t s . l e Hyae,
¥2,84'Pet
e

and

Ideas w e need t o approach Xo from all feasible dirs.



Def g iven a func. E - f l ag ) w e say that

they) has limit L a s lays → (Xo,yo) i f

w e c a n m a k e flag) a s close to L a s w e want5Eix%EµI§
¥⇐#
Homo).

I f w e c a n do this, w e w r i t e

11M flag) = L
(Xie)→ (Iloilo)

• =L#Yo)



E I ghos t ¥¥p Investigate

11M¥91
(Ky)→ 10,0)

① take the limit along the g e o s l i ce .

glx,o ) = ¥¥o = O

11M 91×101 = 0 .

11-70

② t r y k o s l i c e . glory1 = 0 , s o
41%91991=0.



③ let's try coming into 6,0) along the c u r v e

Y- x ?
glxx4=¥¥*, = 1¥ = I

s o 11mg1×1×2) = L . (!)
X → o

what does th i s mean?

↳ l im
Hin→ g o ,

91*95 DN E bk w e
found

two paths a t different
I n u i t

values!



§§µ "picture of checking a l l possible

directions".

A f ~ f t x g l a t c a . B A
(Cts . )

①kmby)→qggf'"" Exists,

② flats) I s defined, and

③ " m Axis) = flats)
(X.g ) → Cai)



E I w e c a n a s k t h e following:

f l y, = {
X 34345; day) # 0 , 0 )
c ; day) = Cool .

Q what value of C makes flag) continuous@
6,01?

A- c = 5 .

↳ why? I im flag) = 5

Hip-Hop)

s o i f I w e r e to be Cts @Coo) W e must have



£10,0) = 5 .


